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DIMITRIOS GKIKA

DIMITRIOS GKIKAS

EMBAAOMETPHZH KTIPIOY
[ZOTEIO YOIZTAMENO
H/M 2,00*6,55% = 6,55 T.M.

OrKOMETPHZH KTIPIOY

[ZOTEIO YOIZTAMENO 144,18 *5,75 = 829,04 K.M.
H/M 6,55%2.80 = 18.34 K.M.

XAPAKTHPIZMOZ KOYO®QMATON

Uyog TpeKiou
= "
) W Oyo¢ TodIAC

Oct 23 2020 08:43

L_ |

AHMOZ TANAIPAX

A/NZH TEXNIKQN YTHPEZIQN
TMHMA TEXNIKQN EPI'QN

13,0511 ,55-2,00*6,55*%= 144,18 T.M.

AIAPYOMIZH KTIPIOY N'PADEIQN
AHMOTIKOY KATAZTHMATOX

EPIO: (MPQHN KAMH IXHMATAPIOY)
KAipaka:
2XEAIO: KATOWEIZ & TOMH KTIPIOY 1/50
2xedlaotAc: . Kapapould AéaTroiva Hulvia: 2020
] Kapapould AfoTtoiva ] ]
MeAetnTnc: APXITEKTWV MNXaVIKGC ApIBUOG Zxediou:

MpoIoTAPEVOC
Alvong

IKika¢ AnunTeNg
Totmroypagpo¢ Mnx. TE
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